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GEOGRAPHY (Theory)
Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½

Time allowed : 3 hours Maximum Marks: 70
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 70

General Instructions :

(i) There are 19 general questions.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions number 1 to 10 are short-answer questions carrying 3 marks each. Answer
to each of these questions should not exceed 80 words.

(v) Questions number 11 to 15 are also short-answer questions of 4 marks each. Answer
to each of these questions should not exceed 120 words.

(vi) Questions number 16, 17 and 18 are long-answer questions of 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question number 19 contains test items of very short-answers. It is of 5 marks.

(viii) Outline maps of the World and India provided to you must be attached with your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lkekU; iz'uksa dh dqy la[;k 1919191919 gSA

(ii) lHkh iz'u vfuok;Z gSaA

(iii) izR;sd ds lkeus mlds vad fn;s gSaA

(iv) iz'u la[;k 11111 ls 1010101010 rd y?kq&mÙkj okys iz'u gSa vkSj izR;sd iz'u ds 33333 vad gSaA ,sls izR;sd

iz'u dk mÙkj 8080808080 'kCnksa ls vf/kd ugha gksuk pkfg,A

Roll No.

Series SHC Code  No. 64/1
Please check that this question paper contains 8 printed pages + 2 Maps.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 8 + 2 ekufp=k gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 19 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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(v) iz'u la[;k 1111111111 ls 1515151515 rd Hkh y?kq&mÙkj okys iz'u gSa vkSj izR;sd ds 44444 vad gSaA ,sls izR;sd

iz'u dk mÙkj 120120120120120 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 16] 1716] 1716] 1716] 1716] 17 vkSj 1818181818 yEcs&mÙkj okys iz'u gSa vkSj izR;sd ds 55555 vad gSaA ,sls izR;sd

iz'u dk mÙkj 150150150150150 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) iz'u la[;k 1919191919 esa vfr y?kq&mÙkjksa dh ijh{k.k ensa 'kkfey gSaA ;g iz'u 55555 vad dk gSA

(viii) lalkjlalkjlalkjlalkjlalkj vkSj HkkjrHkkjrHkkjrHkkjrHkkjr ds fn;s x;s js[kk&ekufp=kksa dks viuh mÙkj&iqfLrdk esa vo'; uRFkh dhft,A

(ix) js[kk&ekufp=k cukus ds fy;s lk¡pks a lk¡pks a lk¡pks a lk¡pks a lk¡pks a ;k LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a ds iz;ksx dh vuqefr nh tkrh gSA

1. Divide the subject matter of Human Geography into two sections, according to Finch and
Trewartha. Write two main features of each section. 1+2=3

fQap vkSj fVªokFkkZ ds vuqlkj ekuo Hkwxksy dh fo"k;&oLrq dks nks oxks± esa ck¡fV,A izR;sd oxZ dh
nks&nks eq[; fo'ks"krk,¡ fyf[k,A

2. Define the term ‘Foraging’. Write its four characteristics. 1+2=3

^pjokgh&thou* 'kCn dh ifjHkk"kk nhft,A bldh pkj fo'ks"krk,¡ fyf[k,A

3. State any three characteristics of air transport. Which are the three major regions of the

 world having very dense network of airways ? 1½+1½=3

ok;q ifjogu dh fdUgha rhu fo'ks"krkvksa dk mYys[k dhft,A lalkj ds rhu izeq[k izns'k dkSuls gSa] ftuesa
ok;qekxks± dk vfr l?ku tky gS\

4. Describe the three components of systematic planning needed for resource development in
India. 3×1=3

Hkkjr esa lalk/ku fodkl ds fy, vko';d lqO;ofLFkr fu;kstu ds rhu ?kVdksa dk o.kZu
dhft,A

5. Describe any three features of export trade of India during 1960-61 and 2000-01. 3×1=3

1960&61 vkSj 2000&01 dh vof/k esa Hkkjr ds fu;kZr O;kikj dh fdUgha rhu fo'ks"krkvksa dk
o.kZu dhft,A

6. Explain the three components that set the international trade pattern in the world. 3×1=3

lalkj esa vUrjkZ"Vªh; O;kikj ds izfr:i dks fu/kkZfjr djus okys rhu vo;oksa dh O;k[;k dhft,A

7. Explain any three factors which have contributed to the industrial development of ‘Hugli
Industrial Region’. 3×1=3

^gqxyh vkS|ksfxd izns'k* ds vkS|ksfxd fodkl esa ;ksxnku nsus okys fdUgha rhu dkjdksa dks Li"V
dhft,A
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8. Study the diagram given below and answer the questions that follow :

(8.1) Give an appropriate title to the given diagram.

(8.2) How is rainwater recharged through this technique ? Explain. 1+2=3

Åij fn, x, vkjs[k dk v/;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %

(8.1) fn, x, vkjs[k ds fy, mi;qä 'kh"kZd nhft,A

(8.2) bl rduhd ds }kjk o"kkZ&ty dk iquHkZj.k fdl izdkj gksrk gS \ Li"V dhft,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 8.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 8 ds LFkku ij gSA

What is rainwater harvesting ? State any four objectives of rainwater harvesting. 1+2=3
o"kkZ&ty laxzg.k fdls dgrs gSa\ o"kkZ&ty laxzg.k ds fdUgha pkj mís';ksa dk mYys[k dhft,A

9. Study the table given below and answer the questions that follow :

Global Land Use Changes (Area in Million Hectares)

Broad Land Uses 1700 1850 1920 1950 1980 2000

Forests 6214 5965 5678 5389 5053 3454

Grasslands 6860 6837 6748 6780 6788 3427

Croplands 265 537 913 1170 1501 1512

(9.1) Under which land use category has the land area decreased most between 1700 and
2000 ? How much has it decreased ?

(9.2) Which land use category shows increasing tendency regularly in all the years ?
What is the total increase in the area in this category between 1700 and 2000 ?

(9.3) Give one reason for increasing trend in the area of croplands. 1+1+1=3
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uhps nh xbZ lkj.kh dk v/;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %

fo'o&Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o&Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o&Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o&Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o&Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½

izeq[k Hkw&mi;ksx 1700 1850 1920 1950 1980 2000

ou 6214 5965 5678 5389 5053 3454

?kklHkwfe 6860 6837 6748 6780 6788 3427

Qly&{ks=k 265 537 913 1170 1501 1512

(9.1) 1700 vkSj 2000 dh vof/k esa fdl Hkw&mi;ksx oxZ ds vUrxZr Hkw&{ks=k lcls vf/kd ?kVk

gS \ ;g {ks=k fdruk ?kVk gS\

(9.2) dkSulk Hkw&mi;ksx oxZ lHkh o"kks± esa fujarj c<+rh gqbZ izo`fÙk dks iznf'kZr djrk gS\ 1700

vkSj 2000 dh vof/k esa bl oxZ ds vUrxZr dqy {ks=k fdruk c<+k gS\

(9.3) Qly&{ks=k ds vUrxZr {ks=kQy esa c<+rh gqbZ izo`fÙk dk ,d dkj.k nhft,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 9.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ij gSA

Why is rice called a labour intensive crop ? Give three reasons. 3×1=3
pkoy dks Je iz/kku Qly D;ksa dgk tkrk gS\ rhu dkj.k nhft,A

10. Study the diagram given below and answer the questions that follow :

India : Consumption of Electricity (in Percentage)

(10.1) Which sector is the greatest consumer of electricity in India ? Write its consumption
in percentage.

(10.2) Name   the   two   other  major  consumers   of electricity.   Write   the   percentage  of
consumption of each. 1+2=3
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uhps fn, x, vkjs[k dk v/;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %

Hkkjr% fctyh dk miHkksx ¼izfr'kr esa½Hkkjr% fctyh dk miHkksx ¼izfr'kr esa½Hkkjr% fctyh dk miHkksx ¼izfr'kr esa½Hkkjr% fctyh dk miHkksx ¼izfr'kr esa½Hkkjr% fctyh dk miHkksx ¼izfr'kr esa½

(10.1) Hkkjr esa dkSulk {ks=k fo|qr~ dk lcls cM+k miHkksäk gS \ blds miHkksx dks izfr'kr esa

fyf[k,A

(10.2) vU; nks izeq[k fo|qr~ miHkksäkvksa ds uke crkb,A izR;sd dk miHkksx izfr'kr esa fyf[k,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 10.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ij gSA

State any three points of importance of non-conventional sources of energy in India. 3×1=3

Hkkjr esa vikjaifjd ÅtkZ ds lzksrksa dk egÙo fdUgha rhu fcUnqvksa esa crkb,A

11. State any eight effects of air pollution on environment in India 8×½=4

Hkkjr esa i;kZoj.k ij ok;q iznw"k.k ds fdUgha vkB izHkkoksa dk mYys[k dhft,A

12. Explain any two physical and two economic factors that influence mining activities in the
world. 2+2=4

lalkj esa [kuu fØ;kvksa dks izHkkfor djus okys fdUgha nks HkkSfrd vkSj nks vkfFkZd dkjdksa dks Li"V

dhft,A

13. Explain two main features each of the four types of rural settlements found in India. 4×1=4

Hkkjr esa ikbZ tkus okyh pkj izdkj dh xzkeh.k cfLr;ksa dh nks&nks izeq[k fo'ks"krkvksa dks Li"V dhft,A

14. Explain  any  four  factors  which  have  influenced  the  distribution  pattern  of railway
network in India. 4×1=4

Hkkjr esa jsy tky forj.k izfr:i dks izHkkfor djus okys fdUgha pkj dkjdksa dks Li"V dhft,A
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15. Study the map given below and answer the questions that follow :

(15.1) Name the important inland waterway shown in the map.

(15.2) Name the terminal ports of this inland waterway.

(15.3) Name the country through which this inland waterway passes.

(15.4) Write any two characteristics of this inland waterway. 1+1+1+1=4

Åij fn, x, ekufp=k dk v/;;u dhft, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %

(15.1) ekufp=k esa fn[kk, x, egÙoiw.kZ vUr%LFkyh; tyekxZ dk uke crkb,A

(15.2) bl vUr%LFkyh; tyekxZ ds vfUre iÙkuksa ds uke crkb,A

(15.3) ftl ns'k ls ;g vUr%LFkyh; tyekxZ xqt+jrk gS] ml ns'k dk uke crkb,A

(15.4) bl vUr%LFkyh; tyekxZ dh dksbZ nks fo'ks"krk,¡ fyf[k,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 15.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 15 ds LFkku ij gSA

Explain any four main characteristics of Suez Canal. 4×1=4

Lost ugj dh fdUgha pkj eq[; fo'ks"krkvksa dks Li"V dhft,A
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16. Define the term ‘Population Growth’. Describe any two components that make population
change in the world. 1+2+2=5

^tula[;k o`f)* 'kCn dh ifjHkk"kk nhft,A lalkj esa tula[;k ifjorZu djus okys fdUgha nks ?kVdksa dk

o.kZu dhft,A

17. “Over-urbanisation in developing countries has given rise to slums and squatter

settlements making urban life miserable the world over.” Support this statement with

five suitable examples. 5×1=5

^^vfr uxjhdj.k us fodkl'khy ns'kksa esa >qXxh&>ksifM+;ksa vkSj efyu cfLr;ksa dks tUe fn;k gS ftlus

lalkj Hkj esa ogk¡ ds uxjh; thou dks nq[kn cuk fn;k gSA** bl dFku dh ik¡p mi;qä mnkgj.kksa

lfgr iqf"V dhft,A

18. Define the term ‘Density of Population’. Explain any four physical factors with suitable

examples that affect the distribution of population in India. 1+4=5

^tula[;k ?kuRo* 'kCn dh ifjHkk"kk nhft,A Hkkjr esa tula[;k ds forj.k dks izHkkfor djus okys fdUgha

pkj HkkSfrd dkjdksa dks mi;qä mnkgj.kksa dh enn ls Li"V dhft,A

19. (19.1) In the given political outline map of the World (on page 9) four features are shown

as A, B, C and D. Identify them with the help of the map legend and write their

correct names on the dotted lines marked on the map. 4×½=2

(19.2) On the given political outline map of India (on page 11) provided to you, locate and

label the following with appropriate symbols : 3×1=3

(i) The state with highest literacy rate.

(ii) An important copper mining centre in Rajasthan.

(iii) The steel plant set up in the public sector in Andhra Pradesh.

(19.1) fn, x, lalkjlalkjlalkjlalkjlalkj ds jktuhfrd js[kk&ekufp=k ¼i`"B 9½ esa pkj y{k.k A, B, C vkSj D ls fn[kk,

x, gSaA ekufp=k dh dqath dh lgk;rk ls mUgsa igpkfu, vkSj ekufp=k esa vafdr [kafMr js[kkvksa

ij mu y{k.kksa ds lgh uke fyf[k,A

(19.2) vkidks fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11½ esa fuEufyf[kr dh fLFkfr

mi;qä fpg~uksa }kjk fn[kkb, vkSj uke fyf[k, %

(i) lokZf/kd lk{kjrk nj okyk jkT;A

(ii) jktLFkku esa rk¡cs dk egÙoiw.kZ [kuu dsUnzA

(iii) vka/kz izns'k esa lkoZtfud {ks=k esa LFkkfir bLikr la;a=kA
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 19.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 19 ds LFkku ij gSA

(19.1)    Name the most populated country of Europe.

(19.2)    Which is the largest sugarcane producing country in South America ?

(19.3)    Name the state of India with the highest literacy rate.

(19.4)    Name the most important copper mining centre in Rajasthan.

(19.5)    Name the steel plant set up in the public sector in Andhra Pradesh.

(19.1) ;wjksi ds lcls vf/kd tula[;k okys ns'k dk uke crkb,A

(19.2) nf{k.k vesfjdk esa xés dk lcls cM+k mRiknd ns'k dkSulk gS \

(19.3) Hkkjr esa lcls vf/kd lk{kjrk nj okys jkT; dk uke crkb,A

(19.4) jktLFkku esa rk¡cs ds lcls egÙoiw.kZ [kuu dsUnz dk uke crkb,A

(19.5) vka/kz izns'k esa lkoZtfud {ks=k esa LFkkfir bLikr la;a=k dk uke crkb,A
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